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INSTRUMENT PROCESSING SHEET

Alcohol Testing Program

Dateln_S/}O/l7

Date Out

Cex‘ln‘l"‘—;f *fs‘igujns/N 80"&3\31‘{(—{ ph

Wship OP/U QH/D Dcrvn %gllf

4pp
Intake Performedﬁ(—) Quality Checks Performed By <ZI” [ Flow Calibration Performed By .« © 07
O Registration W Breath Tube Screen & Flow Calibration N Fp
SEF- Annual } Replace O-Rings QO Flow Calibration Comgﬁ@é Te LE
Q Return from CMI Instrument Set Up Verified Flow Column # t”’g Py
Q Return from Enforcement  R-Value _ 2. Q 5U/min-17mm og"aln
Electronics E} Flow Verification (L/s) 7 Q 15L/min -53mm
Q other Flow Column # Pﬂ PiOQ— O 30L/min-103mm
Visual Inspection: 32mm _ 5 (.139-.169) | @ R-Value
_QLCase e nandle 36mm /7] (.156-.190) | O Post Calibration Verification (L/s)
~y¢ Dry Gas Holder _-L'(-Feet 53mm M (228 = .278) Flow Colu'mn #
_OWKeyboard/Plug O Back/Plugs 103mm L S51[  (.447 - .547) 32mm (-139 - .169)
Ol screws tight (Clo_Breath Hose Barometric Pressure Check 36mm (.156 - .190)
-  GaugelD# A3F 53mm (.228 - .278)
Other Equipment: ﬁ Stability Checks 103mm (.447 - .547)
Q Power cord Simulator | Serial # Lot #/Exp _
Printer Cable 0.05 s 20z 03D | [ Maintenance  Performed By
_gi_!)ther %J\ZA‘\C .?—C‘-—g.(-—' _é" 31A 35-18 U Battery Replacement
0.08 ?(1 \(‘g 19 S01eotE || Q Dry Gas Regulator Replacement
o -2 -8 g Breath Tube Replacement
Notes: 0.20 " AblioD & Other
' DPABESL ilcjrg?g | Suggested Service
0.08 DGS N/A e Vs
23 -\¥
'Optical Bench Calibration Performed By 5t~ Department Inspection Performed By <=
O Optical Bench Calibration N/A Barometric Pressure 1013 Gauge
? Optical Bench Calibration Complete ) ID# 4@ Y1) sy el Instrument
arometric Pressure Gauge \OLW 1pg J¥Y I |
Simulator | Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 20 -A
0.000 <DIOI e N/A N/A Acetone Stock Solution Lot# ol O | |- FI
0.040 <pioay \5108 F-%—(7 Simulator ‘ Sezal Number
0100 5151023 | (5001 550-0 - = 2550
= - QA 3Y
0.200 DERES6 | 15104 | 5-277-17 1| Moes 3109
1| 0.400 GAY 07 5105 | (0107 |([ 008 DRIY
[ 0.080DGS | N/A liSGi5osoAR | T-5~11 0.20 DRAY 5,
G Post Calibration Stability Checks
"Simulator | Serial Number | Lot Number Expiration Attachments
0.05 (3109 F0103D [3-§-1§ g Form 41 Optical Bench Cal
0.08 DRI ADLLOF | =2 -\§ Pre-Stability Tests Post-Stability Tests
0.20 D238 5t 201L049C | 4-5-1% O Flow Calibration Q Other
0.08 DGS N/A ARG LLless| 9-902-1F _J

Notes: T[ea<e (HANGE LEVEL 2 PASSWORD

10_S0M ETHNG LWIQILE.

-PERFOLMED oP;tL{\L CALBLATION TO

;IC Instrument Complies with Chapter 11D-8, FAC
Q Instrument Does Not Comply with Chapter 11D-8, FAC

ORING VALLES CWSER TO NOMIN AL.<P

H Return to/Place into Evidentiary Use
Q Remain Out of Evidentiary Use -

QCN o /& Conduct an Agencv lnspection Before Evrdentuarv Use
V. z : :
L/\J(.frlfzj /- ‘{,{,mé@;z/_ C// < // Pl
Quality Control Review / Date

Revised November 2012
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Intoxilyzer - &lconol Analyzer

Mode!l 8000 SN 80-001344
1222017 11:32:01

Auto Calibration
Max Power Res Ualue = 66
AUto Range Res lalue = 48

Sol Ualue = 0.000 /2101 *xx
Fit value = 0.0000 ng/| 2%2%
Samples Taken = 4, Discarded = |
3um To = 12684, 9um o = 13374
<< CHANNEL | oo
Sample RS (% Abs ReR)
Sample #1 = -0.0070  (-0.0060)

Sample #2 = 00160 (-D.0200)
Sample #3 = 0,030 (-0.0340)
Sample #4 = 0.0150  (-0.0300)
Rug % Abs = 0.0210 (-0.0280)

STOCEU = 0.0095 (0.0072)
REL STD DEU = 45.426 (25,754)

<< CHANNEL 2 oo
Sample % Abs {% Rbs Ref)

Sample &1 = -0.0600 (0. 0040)
sanple H2 = 0.007) (-0.0590)
Sample §3 = 00040 (-0.048D)
Sanple H4 = 0.0060 {~0, 0620
Aug & Abs = 10,0057 (-0, 0563;

STDOEU = 0.0015 (0.0074)
REL STD DEU = 26,956 (13, 085)

¥xxx AUTO CAL FRIL
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